Yamaha G29 Nerf Bars w/ Diamond Plate Step
Installation Instructions
Part# 7456

QUAKESSY

FT K\IT

Hardware Kit
4-5/16x1 bolts
4- 5/16 washers
4-5/16 locknuts
2- U-bolts

4- 3/8 locknuts
4- 3/8 washers
6-3/16 Rivets

Aﬂw wear, apprapriale
ege protection!

Installation Instructions:

1. Jack up the car and place it on jack stands.

2. Remove the driver side front and rear wheels/tires.

3. Mount the rear brackets to the nerf bar as shown in
FIGURE 2. NOTE: The rear frame of the car was
changed in 2011. Make sure you mount the
appropriate mount to the rear of the nerf bar as
shown in FIGURE 2. 2007-10 models use the mount
that is bent 45*. 2011 & Up models use the mount
that is bent 90*(flat) as shown in FIGURE 2.

4. Take the driver side nerf bar (top bar pictured above)
and hold the front mounting plate into the channel as
shown in FIGURE 1.

5. Using the top two holes as a guide mark the car and drill
two 5/16” holes and loosely mount the nerf bar in place
as shown in FIGURE 1 using the supplied 5/16 x 1
bolts, washers & locknuts.

6. Place the rear portion of the nerf bar against the frame
and bolt to the frame using the supplied u-bolts, 3/8
washers & locknuts as shown in FIGURES 3.

Securely tighten all bolts.
Repeat steps 2-6 for the passenger side of the car.

© oo N

on top of the nerf bar in the desired location. Using a
marker or punch mark the three holes on the nerf bar. Using
a 3/16 drill bit drill through the three marked holes in the
nerf bar. NOTE: Make sure you only drill through the
top section of the nerf bar. You do not drill through the
entire nerf bar.

10. Using the supplied rivets mount the diamond plate step to
the nerf bar using the 3 holes you just drilled.

HIK«E“S\
M FTK ITS
866-405-2537
www.jakesliftkits.com

2007-2010 Rear Mounts 45*Bend

Driver Side

W,

2011 & Up Rear Mounts 90*Bend

Passenger Side

Figure 1

Pas""’w mﬁde
T = ; ;
" 4

Drill 516" holes & i+ = §—~/ &K
bolt with 5/16 x 1 || e

Driver Side Front

Figure 2

Driver side
rear mount
2011 & Up Models

Driver side
rear mount
2007-10 Models

\

pY
5/16 x 3/4

X

5/16 x 3/4
45* Mount}

Flat Mount

This nerf bar kit comes with an optional diamond plate step. If you want to install the diamond plate step place it

Figure 3

2007-10 Models
Driver Rear Mount.

2011 & Up Models
Driver Rear Mount




